


















ALLOY SOCKET HEAD CAP SCREWS 

Regular Pitch - Class 12.9 
 

 Cold-forged alloy steel increases strength. 

 Hex is clean, deep and sharp to allow greater tightening torques. 

 Exceeds Grade 8 and has a minimum tensile strength of 176,900 

psi. 

 

 

 

 
 

 
 
 
 
 
 
 
 
 

09-17-15     PAGE 167 

METRIC 
 

 

4 MM DIAMETER 

J&B # SIZE PITCH QTY 

25055 4 x 10 .70 50 
45533 4 x 12 .70 50 
45534 4 x 16 .70 50 
25056 4 x 20 .70 50 
45535 4 x 25 .70 50 
25057 4 x 30 .70 50 

5 MM DIAMETER 

J&B # SIZE PITCH QTY 

25058 5 x 10 .80 50 
45536 5 x 12 .80 50 
38406 5 x 16 .80 50 
25059 5 x 20 .80 50 
45541 5 x 25 .80 50 
25060 5 x 30 .80 50 
25093 5 x 40 .80 50 
25094 5 x 50 .80 50 
25095 5 x 60 .80 50 
45537 5 x 70 .80 50 

8 MM DIAMETER 

J&B # SIZE PITCH QTY 

38388 8 x 12 1.25 50 
38389 8 x 16 1.25 50 
25072 8 x 20 1.25 50 
38392 8 x 25 1.25 50 
25073 8 x 30 1.25 50 
38396 8 x 35 1.25 50 
25074 8 x 40 1.25 50 
38394 8 x 45 1.25 50 
25075 8 x 50 1.25 50 
38397 8 x 55 1.25 50 
38393 8 x 60 1.25 50 
25076 8 x 65 1.25 25 
38407 8 x 70 1.25 25 
38395 8 x 80 1.25 25 

    
    

6 MM DIAMETER 

J&B # SIZE PITCH QTY 

25061  6 x 10 1.00 50 
45538  6 x 12 1.00 50 
38390  6 x 16 1.00 50 
25062  6 x 20 1.00 50 
38391  6 x 25 1.00 50 
25063  6 x 30 1.00 50 
25064  6 x 35 1.00 50 
45539  6 x 40 1.00 50 
25065  6 x 45 1.00 50 
25066  6 x 50 1.00 50 
25067  6 x 55 1.00 50 
25068  6 x 60 1.00 50 
25069  6 x 70 1.00 25 
38405  6 x 80 1.00 25 
25070  6 x 90 1.00 25 
25071  6 x 110 1.00 25 

 







ALLOY SOCKET SET SCREWS 

 Precision rolled threads for greater holding power & accurate size. 

 Greater resistance to snapping, stretching and shearing. 

 Strong, full finished deep socket allows full wrenching leverage. 

 

 

 

 

 

 
 
 

 
 
 
 
 
 
 
 
 

 
 

 
09-17-15     PAGE 168 

METRIC 
 

Cup Point 
Din 916 – Grade 12.9 

 

 

3MM DIAMETER 

J&B # SIZE QTY 

87010   3mm - .50 x 6 100 
87011   3mm - .50 x 8 100 

   

4MM DIAMETER 

J&B # SIZE QTY 

87012   4mm - .70 x 6 100 
36936   4mm - .70 x 8 100 
87013   4mm - .70 x 10 100 

6MM DIAMETER 

J&B # SIZE QTY 

36946   6mm x 1.00 x 8 100 
36947   6mm x 1.00 x 10 100 
87015   6mm x 1.00 x 12 100 
36949   6mm x 1.00 x 16 100 

   

5MM DIAMETER 

J&B # SIZE QTY 

36940   5mm - .80 x 8 100 
36941   5mm - .80 x 10 100 
87014   5mm - .80 x 12 100 
36943   5mm - .80 x 16 100 

8MM DIAMETER 

J&B # SIZE QTY 

87016    8mm x 1.25 x 8 50 

36952    8mm x 1.25 x 10 50 

36954    8mm x 1.25 x 16 50 
36955    8mm x 1.25 x 20 50 
36956    8mm x 1.25 x 25 50 

10MM DIAMETER 

J&B # SIZE QTY 

87017  10mm x 1.50 x 12 50 
36960  10mm x 1.50 x 16 50 
36961  10mm x 1.50 x 20 50 
36963  10mm x 1.50 x 30 25 

 

















MACHINE SCREWS 

Phillips Pan Head 
                                 Zinc Plated 

 

 Plated finish protects against rust and corrosion. 

 Fully threaded and free from burrs.  

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 

 
10-20-16     PAGE 171 

METRIC 
 

 

2 MM DIAMETER 

J&B # SIZE QTY 

87030   2mm - .40 x 4 100 
87031   2mm - .40 x 6 100 
87032   2mm - .40 x 8 100 
87033   2mm - .40 x 10 100 

2.5 MM DIAMETER 

J&B # SIZE QTY 

87036   2.5mm - .45 x 4 100 
87037   2.5mm - .45 x 6 100 
87038   2.5mm - .45 x 8 100 
87039   2.5mm - .45 x 10 100 

3 MM DIAMETER 

J&B # SIZE QTY 

36900   3mm - .50 x 6 100 
36901   3mm - .50 x 8 100 
36902   3mm - .50 x 10 100 
36903   3mm - .50 x 12 100 
36904   3mm - .50 x 16 100 
36905   3mm - .50 x 20 100 

3.5 MM DIAMETER 

J&B # SIZE QTY 

87042   3.5mm - .60 x 6 100 
87043   3.5mm - .60 x 8 100 
87044   3.5mm - .60 x 10 100 
87045   3.5mm - .60 x 12 100 
87046   3.5mm - .60 x 16 100 
87047   3.5mm - .60 x 20 100 

5 MM DIAMETER 

J&B # SIZE QTY 

36915   5mm - .80 x 8 100 
36916   5mm - .80 x 10 100 
36917   5mm - .80 x 12 100 
36918   5mm - .80 x 16 100 
36919   5mm - .80 x 20 100 
36920   5mm - .80 x 25 100 

4 MM DIAMETER 

J&B # SIZE QTY 

36908   4mm - .70 x 6 100 
36909   4mm - .70 x 8 100 
36910   4mm - .70 x 10 100 
36911   4mm - .70 x 12 100 
36912   4mm - .70 x 16 100 
36913   4mm - .70 x 20 100 
36914   4mm - .70 x 25 100 

6 MM DIAMETER 

J&B # SIZE QTY 

36923   6mm - 1.00 x 8 100 
36924   6mm - 1.00 x 10 100 
36925   6mm - 1.00 x 12 100 
36926   6mm - 1.00 x 16 100 
11120   6mm - 1.00 x 20 100 
36928   6mm - 1.00 x 25 100 
36929   6mm - 1.00 x 30 100 

 



METRIC 
HEX KEYS 

 

 

• Heat treated alloy steel - key is tough and ductile clear through. 

• Accurately sized to ensure full wall contact. 

• Square cut and engages the socket full depth for better tightening of 
screw. 

 
  FOR USE WITH:   
 

J&B # 
 

SIZE 
SOCKET HEAD 
CAP SCREWS 

FLAT HEAD SOCKET 
CAP SCREWS 

SOCKET HEAD 
SET SCREWS 

 
QTY 

11190   3MM M4 M5 M6 EA 
11191   4MM M5 M6 M8 EA 
11192   5MM M6 M8 M10 EA 
11193   6MM M8 M10 M12 EA 
11194   8MM M10 M12 M16 EA 
11195 10MM M12 M16 M20 EA 
11196 12MM M14 M20 M24 EA 
11197 14MM M16 M24  EA 
11198 17MM M20   EA 

 
BALL HEX KEY SET 

                   
FOLD-UP KEY SET 

 
 
 

 • 9 KEYS; 1.5MM thru 10MM. • 8 KEYS; 1.5MM thru 8MM. 
 

 
 
 
 
 

 
 
 
 

J&B # QTY 
11200 EA 

J&B # QTY 
R28704 EA 

 

 
 

MINIATURE METRIC 
SLIDE CALIPER 

METRIC THREAD 
PITCH GAUGE 

 
 
 
 

 

 

 
 
 

 
 
 
 

J&B # QTY 
11202 EA 

J&B # QTY 
11201 EA 

2-15-06     PAGE 172 





J&B Fleet - Industrial Supply
22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411

www.jbfleet.com

METRIC HEX CAP – COARSE 8.8PART # 2028

5614 5812 5094 5096 5098 5100

5612 5810 5076 5078 5080 5082

5610 5808 5054 5056 5058 5062

5606 5804 5022 5026 5028 5030

M6 X 1.00 PITCH 
HEX NUT

M6 LOCK 
WASHER M6 - 1.00 X 10

M8 X 1.25 PITCH 
HEX NUT

M8 LOCK 
WASHER M8 - 1.25 X 20

M10 X 1.50 PITCH 
HEX NUT

M10 LOCK 
WASHER M10 - 1.50 X 20

M12 LOCK 
WASHER M12 -1.75 X 30 M12 - 1.75 X 40 M12-1.75  X 50 M12 – 1.75  X  60

M6 - 1.00 X 20 M6 - 1.00 X 25 M6 - 1.00 X 30

M8 - 1.25 X 25 M8 - 1.25 X 30 M8 - 1.25 X 40

M10 - 1.50 X 30 M10 - 1.50 X 40 M10 - 1.50 X 50

M12 X 1.75 PITCH  
HEX NUT

1 2 3 4 5 6

7 8 9 10 11 12

1413 15 16 17 18

19 20 21 22 23 24

20

20

25

50

20

20

25

50
25

15

10

5 5

10

10

20

5

5

5

15

3

3

5

10



  

  

  

  

  

  

  

45756 45768 45769 45770 45772 45774 

45757 45777 45778 45779 45781 45783 

45758 45786 45787 45788 45790 45792 

45760 45761 45762 45764 45765 45766 

  

  

  

  

  

  

  

1 2 3 4 5 

7 8 9 10 11 12 

14 13 15 16 17 18 

19 20 21 22 23 24 

6 

J&B Fleet - Industrial Supply  
     22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

STAINLESS METRIC HEX HEAD CAP SCREWS PART# 2831 

6MM-1.00 

HEX NUT 

10 

10 

10 10 10 10 10 

5 10 10 10 10 

10 10 

10 

25 25 25 25 25 25 

5 5 5 

8MM-1.25 

HEX NUT 

10MM-1.50 

HEX NUT 

6MM  

FLAT WASHERS 

10MM  

LOCK WASHERS 
8MM  

LOCK WASHERS 

6MM  

LOCK WASHERS 

10MM  

FLAT WASHERS 
8MM  

FLAT WASHERS 

6-1.00 X 20 

8-1.25 X 20 

10-1.50 X 20 

6-1.00 X 25 6-1.00 X 30 6-1.00 X 40 6-1.00 X 50 

8-1.25 X 30 8-1.25 X 40 8-1.25 X 50 8-1.25 X 25 

10-1.50 X 25 10-1.50 X 30 10-1.50 X 40 10-1.50 X 50 





 



53112 53132 53265 53267 53269 53271

53111 53131 53243 53244 53246 53248

53110 53130 53223 53224 53225 53227

53108 53128 53207 53208 53209 53211

1 2 3 4 5

7 8 9 10 11 12

1413 15 16 17 18

19 20 21 22 23 24

6

J&B Fleet - Industrial Supply
22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411

www.jbfleet.com

10.9 METRIC HEX CAP / COARSEPART # 2216

20 20 5

M6 -1.00 X 25

5 5 3

M8 – 1.25

20 20

M8 WASHER M8 -1.25 X 20

10

M8 -1.25 X 25 M8 -1.25 X 30

10 5

20 20

20 20

M10 – 1.50 M10 WASHER

M8 -1.25 X 40

M10 – 1.50 X 25

10 10 10

10 10 10

M10 – 1.50 X 30 M10 – 1.50 X 40 M10 – 1.50 X 50

10

10

M12 – 1.75 X 50 M12 – 1.75 X 60M12 – 1.75

M6 – 1.00 M6 WASHER

M12 WASHER

M6 -1.00 X 20

M12 – 1.75 X 30 M12 – 1.75 X 40

M6 -1.00 X 30 M6 -1.00 X 40

5





HEX HEAD CAP 

SCREW 
 

PART# 2241 

 

53108 
6-1.00 

Nut 
 

100 

53128 
6MM 

Flat 

Washers    
        100 

5804 
6 MM 

Lock 

Washers 
100 

53207 
6 x 20 

1.00 Pitch 
 

25 

53208 
6 x 25 

1.00 Pitch 

 
20 

53209 
6 x 30 

1.00 Pitch 

 
10 

53211 
6 x 40 

1.00 Pitch 

 
10 

53213 
6 x 50 

1.00 Pitch 

 
10 

53110 
8-1.25 

Nut 
      50                

53130 
8MM 

Flat 

Washers 
100 

5808 
8MM 

Lock 

Washers 
100 

53223 
8 x 20 

1.25 Pitch 

 
25 

53224 
8 x  25 

1.25 Pitch 

 
20 

53225 
8 x 30 

1.25 Pitch 

 
10 

53227 
8 x 40 

1.25 Pitch 

 
10 

53229 
8 x 50 

1.25 Pitch 

 
10 

53111 
10-1.50 

Nut 
50 

53131 
10MM 

Flat 

Washers 

50 

5810 
10MM 
Lock  

Washers 

50 

53242 
10 x 20 

1.50 Pitch 

 
25 

53244 
10 x 30 

1.50 Pitch 

 
10 

53246 
10 x 40 

1.50 Pitch 

 
10 

53248 
10 x 50 

1.50 Pitch 

 
10 

53250 

10 x 60 

1.50 Pitch 

 
10 

53112 
12-1.75 

Nut 
25 

53132 
12MM 

Flat 

Washers 
50 

5812 
12MM 

Lock 

Washers 
50 

53265 
12 x 30 

1.75 Pitch 
 

10 

53267 

12 x 40 

1.75 Pitch 

 
10 

53269 

12 x 50 

1.75 Pitch 

 
10 

53271 

12 x 60 

1.75 Pitch 

 
10 

 

53113 
14-2.00 

Nut 
10 

53133 
14 MM 

Flat 
Washers 

10 

5814 
14MM 

Lock 
Washers 

10 

53282 

14 x 30 

2.00 Pitch 

 
10 

53286 

14 x 40 

2.00 Pitch 

 
5 

53288 

14 x 50 

2.00 Pitch 

 
5 

53290 

14 x 60 

2.00 Pitch 

 
5 

 

 

1135 PIECES 



HEX HEAD CAP 

SCREW 
 

 

2242 –     Assortment with one 72-hole bin 

2242P -   Assortment with two 40-hole ZZNS40 bins  

2242D -   Assortment with two 40-hole 38176 bins 

 

 

 

PART# 2242 

 

53108 
6-1.00 

Nuts 
 

100 

53110 
8-1.25 

Nuts 
 

50 

53111 
10-1.50 

Nuts 
 

50 

53112 
12-1.75 

Nuts 
 

25 

53113 
14-2.00 

Nuts 
 

10 

53114 
16-2.00 

Nuts 
 

10 

  

 
 

 

 

53128 
6MM 

Flat 

Washer 
100 

53130 
8MM 

Flat 

Washer 

100 

53131 
10MM 

Flat 

Washer 
50 

53132 
12MM 

Flat 

Washer 
50 

53133 
14MM 

Flat Washer 
 

10 

53134 
16MM 

Flat 

Washer 
10 

  

 

 

 

 

5804 
6MM 

Lock 

Washer 
100 

5808 
8MM 

Lock 

Washer 
100 

5810 
10MM 

Lock 

Washer 
50 

5812 
12MM 

Lock 

Washer 

50 

5814 
14MM 

Lock 

Washer 

10 

5816 
16MM 

Lock 

Washer 
10 

  
 

 

 

 

 

53207 
 6 x  20 

1.00 Pitch 
 

20 

53208     
6 x  25 

1.00 Pitch 
 

20 

53209 
6 x  30 

1.00 Pitch 
 

20 

53210 
6 x  35 

1.00 Pitch 
 

10 

53211 
6 x  40 

1.00 Pitch 
 

10 

53213 
6 x  50 

1.00 Pitch 
 

10 

 

 
 

 

 
 

53223 
8 x  20 

1.25 Pitch 
 

20 

53224 
8 x  25 

1.25 Pitch 

 
 10 

53225 
8 x  30 

1.25 Pitch  
 

10 

53226 
8 x  35 

1.25 Pitch  
 

10 

53227 
8 x  40 

1.25 Pitch  
 

10 

53229 
8 x  50 

1.25 Pitch  
 

10 

53230 
8 x  60 

1.25 Pitch  
 

10 

53231 
8 x  70 

1.25 Pitch  
 

5 

 

53242 
10 X 20 

1.50 Pitch  
 

10 

53243 
10 X 25 

1.50 Pitch  
 

10 

53244 
10 X 30 

1.50 Pitch  
 

10 

53245 
10 X 35 

1.50 Pitch  
 

10 

53246 
10 X 40 

1.50 Pitch  
 

10 

53248 
10 X 50 

1.50 Pitch  
 

10 

53250 
10 X 60 

1.50 Pitch  
 

10 

53252 
10 X 70 

1.50 Pitch  
 

5 

53254 
10 X 80 

1.50 Pitch  
 

5 

 53256 
10 X 100 

1.50 Pitch  
 

5 

53265 
12 x 30 

1.75 Pitch  
 

10 

53267 
12 x 40 

1.75 Pitch  
 

10 

53269 
12 x 50 

1.75 Pitch  
 

10 

53271 
12 x 60 

1.75 Pitch  
 

5 

53273 
12 x 70 

1.75 Pitch  
 

5 

53274 
12 x 80 

1.75 Pitch  
 

3 

 53276 
12 x 100 

1.75 Pitch 

 
3 

53282 
14 x 30 

2.00 Pitch  
 

5 

53286 
14 x 40 

2.00 Pitch  
 

5 

53288 
14 x 50 

2.00 Pitch  
 

5 

53290 
14 x 60 

2.00 Pitch  
 

5 

 

53295 
14 x 100 

2.00 Pitch  
 

3 

53308 
16 x 40 

2.00 Pitch  
 

5 

53309 
16 x 50 

2.00 Pitch  
 

5 

53310 
16 x 60 

2.00 Pitch  
 

3 

 53313 
16 x 80 

2.00 Pitch  
 
3 

53315 
16 x 100 

2.00 Pitch  
 

3 

 

 

1233 PIECES 



J&B Fleet - Industrial Supply
22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411

www.jbfleet.com

METRIC HEX CAP SCREW – FINE 8.8PART # 2050

5701 5808 5828 5203 5207 5211

5703 5810 5830 5215 5219 5213

5705 5227 5229 5233 5235 5223

5709 5812 5832 5251 5253 5255

HEX NUT          
M10 X 1.00 PITCH

M10 LOCKWASHER

HEX NUT           
M10 X 1.25 PITCH M10 X 1.25 X 30

HEX NUT          
M12 X 1.50 PITCH M12 LOCKWASHER M12 FLATWASHER

M8 LOCKWASHER M8 FLATWASHER M8 X 1.00 X 20 M8 X 1.00 X 30 M8 X 1.00 X 40

M10 X 1.00 X 20 M10 X 1.00 X 30 M8 X 1.00 X 50

M10 X 1.25 X 40 M10 X 1.25 X 50 M10 X 1.00 X 50

M12 X 1.50 X 40 M12 X 1.50 X 50 M12 X 1.50 X 60

HEX NUT            
M8 X 1.00 PITCH

M10 X 1.25 X 25

M10 FLATWASHER

1 2 3 4 5 6

7 8 9 10 11 12

1413 15 16 17 18

19 20 21 22 23 24

50

35

35

20

50

20

10

35

50

20

5

5

20

15

5

5

15

10

5

35

10

520

25



  

  

  

  

  

  

  

  

  

  

  

  

  

  

J&B Fleet - Industrial Supply  
     22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

JIS HEX HEAD CAP SCREWS 

4214 4219 4227 

4215 4221 4229 

4216 4223 4231 

4217 4225 4210 

1 2 3 

4 5 6 

7 8 
9 

10 11 12 

PART #2257 

12 -1.25 X 40 12 -1.25 X 20 

12 -1.25 X 25 

12 -1.25 X 30 

12 -1.25 X 35 

12 -1.25 X 50 

12 -1.25 X 60 

12 -1.25 X 70 

12 -1.25 X 80 

12 -1.25 X 90 

12 -1.25 X 100 

12 -1.25 X WAF 

17MM  NUT 

10 

10 

5 

5 

5 
3 

5 

5 

3 

3 

3 

20 



  

  

  

  

  

  

  

  

  

  

  

  

  

  

J&B Fleet - Industrial Supply  
     22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

10.9 JIS METRIC FLANGE BOLTS  PART # 2210 

42446         42399 42400 42401 42402 42403 

42404 42405 42406 42407 42408 

42447 42412 42413 42414 42415 42416 

42417 42418 42419 42420 42422 

M6 - 1.00  
   20 10 10 10 

  M6 - 1.00 X 12 M6 - 1.00 X 16 M6-1.00 X 20 M6 - 1.00 X 25 
10 

M6 - 1.00 X 30 
10 

M6 - 1.00 X 35 
10 

10 10 
10 

10 
20 

10 10 10 10 

10 10 10 
10 

10 

M6 - 1.00 X 40 M6 - 1.00 X 45 M6 - 1.00 X 50 

M8 - 1.25 X 12 M8 - 1.25 M8 - 1.25 X 16 M8 - 1.25 X 20 M8 - 1.25 X 25 M8 - 1.25 X 30 

M8 - 1.25 X 60 M8 - 1.25 X 50 M8 - 1.25 X 45 M8 - 1.25 X 40 M8 - 1.25 X 35 

1 2 3 4 5 6 

8 9 7 10 11 12 

13 14 
15 16 17 18 

19 20 21 22 23 24 

  M6 - 1.00 X 10 
10 



  

  

  

  

  

  

  

  

  

  

  

  

  

  

J&B Fleet - Industrial Supply  
     22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

10.9 JIS METRIC FLANGE BOLTS PART # 2214 

42448 

 

 

 

 

42433 

 

 

 

 

42437 

 

 

 

 

45502 

42430 

 

 

 

 

42434 

 

 

 

 

42439 

 

 

 

 

45503 

 

42431 

 

 

 

 

42435 

 

 

 

 

42441 

42432 

 

 

 

 

42436 

 

 

 

 

45501 

M10 - 1.25 20 
M10 - 1.25 X 16 10 

M10 - 1.25 X 20 
10 

M10 - 1.25 X 35 

M10 - 1.25 X 25 
10 

10 10 10 10 
M10 - 1.25 X 30 M10 - 1.25 X 40 

10 
M10 - 1.25 X 60 

M10 - 1.25 X 45 

M10 - 1.25 X 50 
10 

M10 - 1.25 X 70 
10 M10 - 1.25 X 80 5 

M10 - 1.25 X 90 M10 - 1.25 X 100 
5 5 



  

  

  

  

  

  

  

  

  

  

  

  

  

  

J&B Fleet - Industrial Supply  
     22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

10.9 FLANGE BOLTS 

38851 38852 38853 

38854 38856 38857 

38858 38859 38861 

38863 

1 2 3 

4 5 6 

7 8 
9 

10 11 12 

PART # 2215 

M10 – 1.50  
20 10 10 

10 
10 10 

M10 – 1.50 X 20 M10 – 1.50 X 25  

M10 – 1.50 X 30 M10 – 1.50 X 35 M10 – 1.50 X 40 

M10 – 1.50 X 50 M10 – 1.50 X 45 
10 10 

M10 – 1.50 X 60 

M10 – 1.50 X 80 

5 

5 



  

  

  

  

  

  

  

  

  

  

  

  

  

  

J&B Fleet - Industrial Supply  
     22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

10.9 METRIC FLANGE BOLTS 

10014 38867 38868 

38869 38870 38871 

38872  38877   

  

 

  

1 2 3 

4 5 6 

7 8 
9 

10 11 12 

PART# 2830 

20 10 

10 10 

10 

10 

M12 - 1.75 M12 - 1.75 X 25 M12 - 1.75 X 30 

M12 - 1.75 X 35 M12 - 1.75 X 40 M12 - 1.75 X 50 

M12 - 1.75 X 60 M12 - 1.75 X 80 
10 10 

http://www.amazon.com/6-1-00-Metric-Flange-Across-Flats/dp/B000NE4PGS/ref=sr_1_1/002-4744975-5581616?ie=UTF8&s=hi&qid=1187102408&sr=8-1


http://www.amazon.com/6-1-00-Metric-Flange-Across-Flats/dp/B000NE4PGS/ref=sr_1_1/002-4744975-5581616?ie=UTF8&s=hi&qid=1187102408&sr=8-1


J&B Fleet - Industrial Supply
22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411

www.jbfleet.com

METRIC SOCKET HEAD CAP SCREWSPART # 2184

25055 25056 25057 25058 25059 25060

25061 25062 38391 25063 25066

25072 38392 25073 25074 25075

25088 25077 25078 25079

8 x 20MM x 1.25P 8 x 25MM x 1.25P

10 x 20MM x 1.50P 10 x 30MM x 1.50P

4 x 20MM x .70 P 4 x 30MM x .70 P 5 x 10MM x .80 P 5 x 20MM x .80 P 5 x 30MM x .80 P

6 x 30MM x 1.00P 6 x 50MM x 1.00P

8 x 30MM x 1.25P 8 x 40MM x 1.25P 8 x 50MM x 1.25P

10 x 40MM x 1.50P 10 x 50MM x 1.50P

4 x 10MM x .70 P

6 x 10MM x 1.00P 6 x 20MM x 1.00P 6 x 25MM x 1.00P

1 2 3 4 5 6

7 8 9 10 11 12

1413 15 16 17 18

19 20 21 22 23 24

25

25

20

5

10

10

10

10

10

5

20

5

3

10

5

5

20

10

10

25



  

  

  

  

  

  

  

  

  

  

  

  

  

  

J&B Fleet - Industrial Supply  
     22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

METRIC STAINLESS SOCKET CAPS PART # 2286 

4237 4239 4240 4241 4242 4244 

4246 4150 4151 4152 4153 4154 

4156 4157 4160 4161 4162 4164 

4166 4170 4171 4172 4174 4176 

6-1.00 X 40 6-1.00 X 50 8-1.25 X 20 

8-1.25 X 50 10-1.50 X 25 

5-.80 X 10 5-.80 X 20 5-.80 X 25 5-.80 X 30 5-.80 X 40 

6-1.00 X 20 6-1.00 X 25 6-1.00 X 30 

8-1.25 X 30 8-1.25 X 40 

10-1.50 X 30 10-1.50 X 40 

5-.80 X 50 6-1.00 X 16 

5 

1 2 3 4 5 6 

7 8 
9 10 11 12 

14 13 15 16 17 18 

19 20 21 22 23 24 

10 

10 

5 

10 

10 

10 

10 

10 

5 

10 

10 

10 

5 

10 

10 

5 10 

10 10 

5-.80 X 16 

6-1.00 X 10 

10 

10 

8-1.25 X 25 

5 5 

10-1.50 X 20 10-1.50 X 50 

http://www.northerntool.com/webapp/wcs/stores/servlet/LLCategoryDisplayView?storeId=6970&langId=-1&catalogId=4006970&PHOTOS=on&TEST=Y&productId=399933&categoryId=7487


  

  

  

  

  

  

  

  

  

  

  

  

  

  

                                             J&B Fleet - Industrial Supply  
                              22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

METRIC SET SCREWS 

87010 87011 87012 36936 87013 

36940 36941 87014 36943 36946 36947 87015 

36949 87016 36952 36954 36955 36956 

87017 36960 36961 36963 

1 3 4 8 

10 

24 

26 27 29 32 

2 5 6 7 

9 11 12 13 14 15 16 

17 18 19 20 21 22 23 

25 28 30 31 

PART # 2223 

20 20 

20 

20 20 

15 15 15 20 20 20 

10 

3MM- .50 X 6 3MM - .50 X 8 4MM X .70 X 8 4MM - .70 X 6 

8MM -1.25 X 8 6MM -1.00 X 16 

4MM - .70 X 10 

5MM - .80 X 8 5MM - .80 X 10 5MM - .80 X 12 5MM - .80 X 16 6MM -1.00 X 12 6MM -1.00 X 10 6MM -1.00 X 8 

20 

15 

8MM -1.25 X 10 8MM -1.25 X 16 

10 10 10 5 

10MM -1.50 X 12 

5 5 5 5 

10MM -1.50 X 16 10MM -1.50 X 20 10MM -1.50 X 30 

8MM -1.25 X 20 8MM -1.25 X 25 



 
PART # 3027 

J & B FLEET-INDUSTRIAL SUPPLY 

PHONE: 330-821-6342 

 METRIC SET SCREWS 

LET US HELP YOU MAKE THE CONNECTION   

87010 

 

87011 

 

87012 

 

36936 

 

87013 36940 

36941 

 

87014 

 

36943 36946 36947 

 

87015 

36949 

 

87016 36952 

 

36954 87017 36960 

3MM - .50 X 6 3MM - .50 X 8 4MM - .70 X 6 4MM - .70 X 8 4MM -  .70 X 10 5MM - .80 X 8 

5MM - .80 X 10 5MM - .80 X 12 5MM - .80 X 16 6MM- 1.00 X 8 6MM - 1.00 X 10 

6MM - 1.00 X 16 8MM - 1.25 X 10 10MM - 1.50 X 12 

10 10 10 10 

5 5 

10 

5 5 

5 
5 

5 

5 

5 

6MM - 1.00 X 12 

8MM - 1.25 X 8 8MM - 1.25 X 16 10MM - 1.50 X 16 

10 10 

10 
10 



  

  

  

  

  

  

  

  

  

  

  

  

  

  

                                             J&B Fleet - Industrial Supply  
                              22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

METRIC SET SCREWS 

87010 87011 87012 36936 87013 

36940 36941 87014 36943 36946 36947 87015 

36949 87016 36952 36954 36955 36956 

87017 36960 36961 36963 

1 3 4 8 

10 

24 

26 27 29 32 

2 5 6 7 

9 11 12 13 14 15 16 

17 18 19 20 21 22 23 

25 28 30 31 

PART # 2223 

20 20 

20 

20 20 

15 15 15 20 20 20 

10 

3MM- .50 X 6 3MM - .50 X 8 4MM X .70 X 8 4MM - .70 X 6 

8MM -1.25 X 8 6MM -1.00 X 16 

4MM - .70 X 10 

5MM - .80 X 8 5MM - .80 X 10 5MM - .80 X 12 5MM - .80 X 16 6MM -1.00 X 12 6MM -1.00 X 10 6MM -1.00 X 8 

20 

15 

8MM -1.25 X 10 8MM -1.25 X 16 

10 10 10 5 

10MM -1.50 X 12 

5 5 5 5 

10MM -1.50 X 16 10MM -1.50 X 20 10MM -1.50 X 30 

8MM -1.25 X 20 8MM -1.25 X 25 



 
PART # 3027 

J & B FLEET-INDUSTRIAL SUPPLY 

PHONE: 330-821-6342 

 METRIC SET SCREWS 

LET US HELP YOU MAKE THE CONNECTION   

87010 

 

87011 

 

87012 

 

36936 

 

87013 36940 

36941 

 

87014 

 

36943 36946 36947 

 

87015 

36949 

 

87016 36952 

 

36954 87017 36960 

3MM - .50 X 6 3MM - .50 X 8 4MM - .70 X 6 4MM - .70 X 8 4MM -  .70 X 10 5MM - .80 X 8 

5MM - .80 X 10 5MM - .80 X 12 5MM - .80 X 16 6MM- 1.00 X 8 6MM - 1.00 X 10 

6MM - 1.00 X 16 8MM - 1.25 X 10 10MM - 1.50 X 12 

10 10 10 10 

5 5 

10 

5 5 

5 
5 

5 

5 

5 

6MM - 1.00 X 12 

8MM - 1.25 X 8 8MM - 1.25 X 16 10MM - 1.50 X 16 

10 10 

10 
10 



J&B Fleet - Industrial Supply
22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411

www.jbfleet.com

METRIC PHILLIPS PAN HEAD MACHINE SCREWS

36900 36902 36903 36904 36908 36909 36910 36911

36912 36913 36916 36918 36919 36920 36924 36925

36926 11120 36928 36929 5600 5602 5604 5606

41869 5800 5802 5804 41867 5820 5822 5824

1 3 4 8

10

24

26 27 29 32

2 5 6 7

9 11 12 13 14 15 16

17 18 19 20 21 22 23

25 28 30 31

PART # 2230

25 25 25 25 2525 25 25

10 10 10 10 10

10101010

10

50 505050

10 10

5010010010050100100100

M3 - .50 X 6 M3 - .50 X 10 M3 - .50 X 12 M3 - .50 X 16 M4 - .70 X 6 M4 - .70 X 8 M4 - .70 X 10 M4 - .70 X 12

M4 - .70 X 16 M4 - .70 X 20 M5 - .80 X 10 M5 - .80 X 16 M5 - .80 X 20 M5 - .80 X 25 M6 -1.00 X 10 M6 -1.00 X 12

M6 -1.00 X 16 M6 -1.00 X 20 M6 -1.00 X 25 M6 -1.00 X 30 M3 X .50
HEX NUT

M4 X .70
HEX NUT

M5 X .80
HEX NUT

M6 X 1.00
HEX NUT

3M HELICAL
SPRING LOCK 

WASHER

4M HELICAL
SPRING LOCK 

WASHER

5M HELICAL
SPRING LOCK 

WASHER

6M HELICAL
SPRING LOCK 

WASHER

3M FLAT
WASHERS

4M FLAT 
WASHERS

5M FLAT
WASHERS

6M FLAT
WASHERS





  

  

  

  

  

  

  

4060 4061                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                 

4062 4063 4064 4065 4066 4067 

4068 4069 4070 4071 4072 4073 

  

  

  

  

  

  

  

1 2 3 4 5 

7 8 9 10 11 12 

14 13 15 16 17 18 

19 20 21 22 23 24 

6 

J&B Fleet - Industrial Supply  
     22428 Harrisburg-Westville Rd. Alliance, Ohio 44601  Phone: (330) 821-6342    Fax: (330) 821-0411 

www.jbfleet.com 

METRIC STUDS PART# 2278 

A) 6MM-1.00 x 20MM 

 B) 7.5MM  C) 27.5MM 

D) 18MM 

5 

A) 6MM-1.00 x 25MM 

 B) 7.5MM  C) 32.5MM 

D) 18MM 

A) 8MM-1.25 x 55MM 

   B) 10MM    C) 65.0MM 

D) 22MM 

A) 8MM-1.25 x 40MM 

 B) 10MM   C) 50.0MM 

D) 22MM 

A) 8MM-1.25 x 35MM 

 B) 10MM   C) 45.0MM 

D) 22MM 

A) 8MM-1.25 x 30MM       

 B) 10MM   C) 40.0MM 

D) 22MM 

A) 8MM-1.25 x 25MM 

 B) 10MM   C) 35.0MM 

D) 22MM 

A) 12MM-1.75 x 30MM 

  B) 15MM    C) 45.0MM 

D) 25MM 

A) 10MM-1.50 x 60MM 

   B) 12MM    C) 72.0MM 

D) 26MM 

A) 10MM-1.50 x 50MM 

  B) 12MM    C) 62.0MM 

D) 26MM 

A) 10MM-1.50 x 40MM 

  B) 12MM    C) 52.0MM 

D) 26MM 

A) 10MM-1.50 x 35MM 

 B) 12MM    C) 47.0MM 

D) 26MM 

 A) 10MM-1.50 x 30MM 

  B) 9MM   C) 42.0MM 

D) 18MM 

A) 8MM-1.25 x 20MM 

 B) 10MM   C) 30.0MM 

D) 16MM 

5 

5 

5 

5 

5 5 

5 5 

5 

5 

2 

2 

2 


	     HHCS Grade 8.8
	     JIS HHCS Grade 8.8
	     HHCS Grade 10.9
	     Flange Bolts 10.9
	     Socket Head Cap Screws 12.9
	     Flat Head SHCS 12.9
	    Set Screws 12.9
	     Nuts
	     Washers
	    Phillips Machine Screws
	     Hex Keys
	    Studs
	ADPF3B4.tmp
	Slide Number 1




